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К4те7оD8я охD4=O ОКН Dе78о=4лL=о7о 7=4Gе=8O 

О5Nект: Д4G4 �. ЛеEEE=еD4 

ЭEк87=O9 пDоект D47D45от4= =4 к4DедDе А�Н !�5�А!У  Eтуде=то< 
ШеEт4ко6K< Н.Э. 
АдDеE о5Nект4: 7. !4=кт-�етеD5уD7, ул. �4D64D84=Eк4O, д. 12, л8теD4 А 
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КD4тк4я 8EтоD8чеEк4я EпD46к4 

Д4G=K9 до< 5Kл поEтDое= 6 1890 6 Eт8ле <одеD= длO пDо<KHле==8к4 H6едEко7о 
пDо8EEо6де=8O �уEт464 АD=олLдо68G4 ЛеEE=еD4. О= 6л4дел <4H8=оEтDо8телL=K< 
8 Gу7у=ол8те9=K< 746од4<8. О=8 D4Eпол474л8EL =4 �K5оD7Eко9 EтоDо=е. 
�оEле Dе6олNF88 д4Gу =4F8о=4л878Dо64л8, 6 1920-E 77. 6 =е9 D47<еEт8л8 До< 
детEко7о туD87<4. �деEL 5Kл4 Eо7д4=4 п4Eек4 8 о7оDод, 74 котоDK< уE46864л8 
дет8. 

� 1952 7. =4 д4Gе 5Kл Eо7д4= До< N=о7о туD8Eт4, котоDK9 подG8=OлEO Д6оDFу 
п8о=еDо6 8<. �д4=о64, Eе9G4E !4=кт-�етеD5уD7Eк89 �оDодEко9 д6оDеF т6оDGеEт64 
N=KE (А=8Gко6 д6оDеF). До к4ко7о-то 6Dе<е=8 д4G4 де9Eт6о64л4 к4к детEк89 
л47еDL. 

 

 

 

 



  еEт46D4F8O 8 пD8EпоEо5ле=8е 

Д4G8 �уEт464 ЛеEE=еD4 

под DеEтоD4= 

 

 

 

 

 
 

 

Тех=8ко-Qко=о<8чеEк8е пок474тел8 EуIеEт6уNIе7о о5Jект4: 
�лоI4дL уG4Eтк4: 1,174 

�лоI4дL 74EтDо9к8: 377 <2
 

�лоI4дL Mт46е9: 583 <2
 

 

Оп8E4=8е тех=8чеEко7о EоEтоя=8я о5Nект4: 

А64D89=ое 

 

 

 

 

 

 

 

 



  еEт46D4F8O 8 пD8EпоEо5ле=8е 

Д4G8 �уEт464 ЛеEE=еD4 

под DеEтоD4= 

 

 

 

 

 



 

 

 

 



 



 

 

 

 

 

 

 

 

 

 

 

 

 

 

 



 еEт46D4F8O 8 пD8EпоEо5ле=8е 

Д4G8 �уEт464 ЛеEE=еD4 

под DеEтоD4= 

 

 

 

 

 



 

 еEт46D4F8O 8 пD8EпоEо5ле=8е 

Д4G8 �уEт464 ЛеEE=еD4 

под DеEтоD4= 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

ПояE=8телP=4я 74п8Eк4: 
Фу=кF8O DеEтоD4=4 о5уEло6ле=4 5олLH8< кол8GеEт6о< 68ло9 
74EтDо9к8 65л878 Mто7о <еEт4, пD8 отEутEт688 к4Dе/DеEтоD4=о6 6 
D4д8уEе доEтуп=оEт8.  
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